Efficiency vs P,

- 0.2 T T
2 : : :
L 0.18F -t R SRRERRRLREED

> r . . .

S 0.16f--------meieeeeeeee preenmeneees ARREEEE R

9] F : : :

o o . . .

E014__' """""" " """""" """"""

9] : : : :
0.12F---rrrreirrrmeeenes Feeseenees e

()| EERCTRPPERY SPRSPRRS Beefeeeens SRRTTTLIRRRS
0.08F : :

: . :
0.06f----------if=-ofenees bRk B R 1 R
r N H +|.
0.04F------ o o e R £ R b R R
3 +7T * :
0.02F----- R R R LS R BE [ SRCRE RN SERETEPRPR
C T + 1k :
o wbf——atddal bbbl
T r :
o [ 2
= e R s = o P T

107 1 10 prT (Ge\})o3

—s=— DQM_V0001_R000000001__Global__mkFit_baseline

—— DQM_V0001_R000000001__Global__mkFit_BASELINE-2

= 0.2
o F i i
CR | It s S A

g F : : : : :
0_90'16:_ ----- o | N T
S E : : : : :
£0.14------ L | A AR R P
o F : : : : :
0.12F - N | B B A AR S P
P OSSR S TS St
0.08F -+ ' : ' :
0.06F

0.04f
0.02F
L 0OF

Ratio
N

0.95




	Contents
	Page 1


